Problem 25.5
An electron’s velocity at two different points is shown.

a.) What is the potential difference between the
points: (3.70x10° mis)i  (1.4x10° mys)i
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b.) Which point has the higher potential?

If the electron is slowing down as it
moves to the right, it must be (3.70x10° mis)i  (1.4x10° mys)]
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accelerated to the left. > =2

aelectmn

An electron will accelerate opposite the P
direction of an electric field, so the field
must be to the right. E
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The direction of an electric field goes
from HIGHER electrical potential to
LOWER electric potential, so the origin
must be at higher potential.
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